Light motion: *I dusted this article for GSJ Bud Rebis     
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Greetings: My name is Professor Joe Nahhas re-founder of Arabs real time physics

Light motion had been known for over 1000 years and you just have not read it till now

The sudden death of the Arabs scientific culture in the 15th century left their scientific achievements hidden treasures for 1000 years in the sand for me to re-discover. I am American and I look at Arabs physics achievements from a physicist and mathematician and experimenter point of view and I had/have found that Arabs physicists descriptions of physics was in real time description that westerners missed and ended with “modern” space – time confusion of physics instead of real time physics. Space – time physics is wrong time physics. Space – time physics wrong time cancer that western civilization carried for 500 years with modern wrong physics is about to end western civilization “modern” physics and physicists and end human spirit from the idiocy of wrong classroom taught physics and the corruption of western academia. I had/have been in a ruthless battle with 500,000 modern self – assumed PHD physicists since age 15 in summer of 1973. I have/had been trashed and expelled not once but few times including Universities but there was not one single person ever who was able to stand up to me and prove me wrong to shut me down. I shut down all and any PhD’s of modern physics in a sudden and quick ruthless confrontation that resulted in deep silence and then anger blast at me. I am an American who produced modern physics and modern physicists’ death certificate that reads: 
Arabs real time physics and Arabs real time astronomy
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Light motion

Abstract: All there is in the universe is particles in motion and light is particles in motion. Light particles are not emitters but they are emitted. In free space light particles can produce a “force” but are not subject to force. Light particles seen in real time along the line of measurement produces what Arabs of 950 AD call a visual effect and what 2010 westerners call a wave. The validity of 950 AD Arabs real time astronomy and wrong 2010 modern astronomy measurements of light along the line of sight coming from stars is that Arabs real time astronomy is flawless in explaining experimental data. Arabs real time astronomy formulas matches NASA’s data with unprecedented accuracy where NASA and all of western civilization have/had failed. To see the greatness of Arabs real time astronomy that was buried in the sand and I dug it out, I am going to use the same equation Arabs used 1000 years ago to solve two problems

1- Planetary motion visual effect applied to planet Mercury
2- Binary stars motion visual effect named As Camelopardalis or the two most studied stars in history!

Einstein rigged the Universe to solve Planet Mercury perihelion and his formula does not work anywhere else 

Einstein was hanged by the other one As Camelopardalis 

   [image: image2.png]


 
Einstein formula is

W = 6 π [G (m + M)/a c² (1- ε²)] (180/ π) (36526/88) (3600) = 43 arc sec/100 y
G = gravitational constant = 6.673 x 10-11

M = sun mass = 2 x 1030 kg; m = mass of Planet mercury = 0.32 x 1024

And a = Sun - Mercury mean distance = 58.2 x 109 m

And c = light speed = 3 x 108 m

And ε = eccentricity = 0.206
And π = 3.1415
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When modern astronomers tried Einstein’s relativity theory on the simplest problem in physics which is the motion of two objects in space like two stars or one set of binary stars not only Einstein failed but all modern physics failed and the whole world failed! The failure is posted since late seventies and in 1983 former USSR and prominent USA astronomers posted their failures in many magazines. Today World failures is due to modern physics wrong time 
Arabs real time astronomy:

Image = Image = I

Object = Object = O

- Object = - Object = - O

Image = object + (Image – Object)

I = O + (I – O)

(I/O) = O/O + [(I – O)/O]

(I/O) = 1 + [(I – O)/O]

Multiply by angular velocity θ' 0
(I/O) θ' 0 = θ' 0 + [(I – O)/O] θ' 0
Quantum = classical + relativistic Illusion

               I = r; O = r 0
Or, (r / r 0) θ' 0 = θ' 0 + [(r – r 0)/ r 0] θ' 0
And [(r – r 0)/ r 0] θ' 0

 The circumference of a planet circular motion is C = 2 π r m where r m is the radius. 

In 1969 I knew about circular speed v m = 2 π r m/ T m where Tm is the period of rotation. Also, in 1969 I knew about angular speed θ’ m = 2 π /Tm = (v m/ r m).     

Or C = 2 π r m; v m = 2 π r m/Tm; θ’ m = 2 π /Tm = (v m/ r m)
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Angular velocity is θ’ m = 2 π /Tm= (v m/r m)

In arc second per century δ θ’ m = (v m/r m) (180/ π) [36526/Tm (days)] (3600)
Arabs Real time Astronomy distance scale:

Is: (r m /r0) θ’ m= θ’ m + [(r m - r0)/r0] θ’ m
Multiplying by δ θ’ m 

Then (r m /r0) δ θ’ m= δ θ’ m + [(r m - r0)/r0] δ θ’ m
In arc second per century δ θ’ m = (v m/r m) (180/ π) [36526/Tm (days)] (3600)
The distance visual effect Error is: [(r m - r0)/r0] δ θ’ m = 43
The velocity visual effect Error is: [(v m - v0)/v0] δ θ’ m = 43
The acceleration visual effect Error is: [(γ m – γ 0)/ γ 0] δ θ’ m = 43
All there is in the Universe is objects of mass m moving in space (x, y, z) at a location r = r (x, y, z). The state of any object in the Universe can be expressed as the product 

S = m r; State = mass x location: 
P = d S/d t = m (d r/d t) + (dm/d t) r = Total moment 

   = change of location + change of mass

  = m v + m' r; v = velocity = d r/d t; m' = mass change rate

F = d P/d t = d²S/dt² = Total force

   = m (d²r/dt²) +2(dm/d t) (d r/d t) + (d²m/dt²) r
   = m γ + 2m'v +m" r; γ = acceleration; m'' = mass acceleration rate

In polar coordinates system

r = r r (1) ;v = r' r(1)  + r θ' θ(1) ; γ = (r" - rθ'²)r(1) + (2r'θ' + r θ")θ(1)
r = location; v = velocity; γ = acceleration

F = m γ + 2m'v +m" r
F = m [(r"-rθ'²) r (1) + (2r'θ' + r θ") θ (1)] + 2m'[r' r (1) + r θ' θ (1)] + (m" r) r (1)
  = [d² (m r)/dt² - (m r) θ'²] r (1) + (1/mr) [d (m²r²θ')/d t] θ (1) 

  = 0 Light force law

Proof:

First r = r [cosine θ î + sine θ Ĵ] = r r (1)

Define r (1) = cosine θ î + sine θ Ĵ 

Define v = d r/d t = r' r (1) + r d[r (1)]/d t

              = r' r (1) + r θ'[- sine θ î + cosine θĴ]

              = r' r (1) + r θ' θ (1)
Define θ (1) = -sine θ î +cosine θ Ĵ;

And with r (1) = cosine θ î + sine θ Ĵ
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Then d [θ (1)]/d t= θ' [- cosine θ î - sine θ Ĵ= - θ' r (1)  
And d [r (1)]/d t = θ' [-sine θ î + cosine θ Ĵ] = θ' θ (1) 

Define γ = d [r' r (1) + r θ' θ (1)] /d t

              = r" r (1) + r'd [r (1)]/d t + r' θ' r (1) + r θ" r (1) +r θ'd [θ (1)]/d t

            γ = (r" - rθ'²) r (1) + (2r'θ' + r θ") θ (1)
With d² (m r)/dt² - (m r) θ'² = F (r)          

And d (m²r²θ')/d t = 0                              

If light mass m = constant, then 

With d² r/dt² - r θ'² = F (r) Eq-1         

And d (r²θ')/d t = 0            Eq-2  

With d² r/dt² - r θ'² = 0      E q – 1 

And d (r²θ')/d t = 0             Eq-2                    

From Eq-2: d (r²θ')/d t = 0 

Then r²θ' = h = constant 

Differentiate with respect to time

Then 2rr'θ' + r²θ" = 0

Divide by r²θ' 

Then 2(r'/r) + θ"/θ' = 0

And 2(r'/r) = - θ"/θ' = 2[λ (r) + ỉ ω (r)]

Also, r = r0 (θ, 0) e [λ (r) + ỉ ω (r)] t
And θ' = θ' 0 (θ, 0) e -2[λ (r) + ỉ ω (r)] t
For a fixed orbit: λ r = 0

Also, r = r 0 (θ, 0) e ỉ ω t
And θ' = θ' 0 (θ, 0) e -2ỉ ω t
With d² r/dt² - r θ'² = 0

Let u = 1/r; r = 1/u; r²θ' = h = θ’ /u² 

And d r/d t = (d r/ d u) (d u /d θ) (d θ/ d t) = (- 1/u ²) (θ’) (d u/ d θ) 

                = - h (d u/ d θ)

And d² r/ d t² = - h (θ’) (d² u/ d θ ²)

                     = [- h²/r²] (d² u/ d θ ²)

                     = - h² u² (d² u/ d θ ²)

With d² r/dt² - r θ'² = 0      E q – 1 

And - h² u² (d² u/ d θ ²) – (1/u) (h u²) ² = 0

Then (d² u/ d θ ²) + u = 0

Then u = A e - í θ    

Then r 0 (θ, 0) = (1/A) e í θ  
And r 0 (θ, 0) = r 0 (0, 0) e í θ  
And r = r 0 (0, 0) e í θ e ỉ ω t 
Or, r = r 0 e í (θ + ω t) 
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This is real time light motion that Arabs drew in 950 AD
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What the Arabs said we see and measure is along the line of sight

A- Arabs real time astronomy: 
The Arabs Astronomers and Physicists said that:
We can not see detect or measure something in space that did not exist and that had not happened. We can only see detect and measure things and events in space that had happened. What we see detect and measure is not what there is and not what happened. We see detect and measure traces and images of objects of past event. We see detect and measure in present time images of object and events that happened in past time. That is we measure images and record data of objects of past events in present time      

Present time = present time

Present time = past time + (present time – past time)
Present time = past time + time difference 
Present time = real time; past time = event time; (present time – past time) = time delay, or, Real time = event time + time delay 

Real time Astronomy = Event time Astronomy + time delays Astronomy
In Modern Physics language the Arabs would have said

Quantum = classical + relativistic 
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What there is = classical

What we see and measure detect partially = quantum 

What we see and measure and has no detection = relativistic

Time dependent measurements = time independent measurements +

(Time dependent measurements – time independent measurements)

     Measured = actual + (measured – actual)

      We do not see object in real time but we see images of objects in real time    

              In common Terms: Image = object + (image – object)

With Image = I; object = O

I = O + (I – O)

I/O = O/O + (I – O)/O

I/O = 1 + (I – O)/O

And (I/O) q = q + [(I – O)/O] q; q measured quantity ---------- Eq - 1

That is a quantity q when measured in real time it would appear as q + [(I – O)/O] q 
500 years of modern physics and 500,000 of modern physicists is all wrong because of this principle (I/O) q = q + [(I – O)/O] -------------- Eq - 1

Or quantum = classical + relativistic 

If Eq – 1 is applied it would expose modern physics as stupidity itself and it would expose modern astronomy as astrology itself. The thing about this principle given by Eq – 1: (I/O) q = q + [(I – O)/O] q is that it is flawless victory or truth itself
Modern space – time physics is all wrong and Arabs real time physics is flawless is because space – timers see detect and measure q as (I/O) q and space - timers take the difference [(I – O)/O] q as real measurement when it is a real time visual effect and nothing real about it; yes, this quantity [(I – O)/O] q is a real time measurement error and modern physics is based on wrong time measurements. This Phenomenon was discovered in 10th century AD by Arab Astronomers and Arab Physicists: What Arab Physicists said was I: Measurements are made along the line of sight or line of measurement  

This is 950 AD Arabs claim that humans and machines see along the line of sight or along the line of measurement and that mean any point on the vertical black line would be measured as the blue line. That is a point location as far as the pink line would be measured as the blue line. The angle between the blue line and the pink line is (ω t) which is the light aberrations angle ω t = arc tan (v/c). The light coming from object is seen along the line of sight and that meant we do not measure actual distance r0 (pink line) but we measure r0 cosine ω t (blue line) and we escape measuring r0 sine ω t which is perpendicular to the line of sight (black line).
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In Short, light coming from objects is seen along the line of sight and that meant we can use real time mathematics to explain what we can see detect and measure and that would be not r0 but  r = r0 cosine ω t + í r0 cosine ω t = r0 e í ω (r) t
Or r = real (blue = along line of sight) + í imaginary (black = perpendicular to line of sight). Or, r = r0 e í ω (r) t
The absolute value of r = the absolute value of r0
This statement said that light comes along line of sight and that meant we see light projections of objects positions (blue line) and not objects position and this line of sight or projection of objects position is a constant and it explains Einstein’s claims that light speed is a constant when light speed projection and not light speed is measured as a constant.

Arabs real time astronomy is actually quantum mechanics r = r0 e í ω (r) t
Light is emitted and not an emitter and humans have no means of measuring light in motion and at best they can take a snap shot.

In mathematical language

Then r (θ, 0) = r 0 e í θ at t = 0

And r (θ, t) = r 0 e í (θ + ω t) = r 0 e í θ e í ω t = r (θ, 0) e í ω t

And r (θ, t) = r (θ, 0) [cosine ω t + í sine ω t] 
And r x (θ, t) = r x (θ, 0) cosine ω t     
And ω t = cosine-1 [r x (θ, t) / r x (θ, 0)]
Then ∆ r = r x (θ, t) - r x (θ, 0) 
            = r x (θ, 0) [(cosine ω t) – 1]

And [r x (θ, t) - r x (θ, 0)]/ r x (θ, 0) 
                 = [(1 - 2 sine² ω t/2) – 1]

                    = - 2 sine ² ω t/2; ω t = cosine-1 [r x (θ, t) / r x (θ, 0)]

rabs real time astronomy:
Image = Image = I

Object = Object = O

- Object = - Object = - O

Image = object + (Image – Object)

I = O + (I – O)

(I/O) = O/O + [(I – O)/O]
(I/O) = 1 + [(I – O)/O]
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(I/O) θ' 0 = θ' 0 + [(I – O)/O] θ' 0
Quantum = classical + relativistic Illusion

                              I = r; O = r 0
Or, (r / r 0) θ' 0 = θ' 0 + [(r – r 0)/ r 0] θ' 0
And [(r – r 0)/ r 0] θ' 0

Or [- 2sine ² ω t/2] θ' 0; ω t = cosine-1 [r x (θ, t) / r x (θ, 0)] cosine-1 (r/ r 0)

For planet Mercury: 
The distance visual effect Error is: [(r m – re)/re] δ θ’ m
The quantity: δ θ’ m = (v m/r m) (180/ π) [36526/Tm (days)] (3600) = 70.75
With v m = 47.9 km/sec; r m = 58.2 x 106 km; Tm = 88 days
With r = 58.2 x 109 m = Sun – Mercury distance
And r e = 149.6 x 109 m = Sun Earth distance

With [(r m – re)/re] = [- 2sine ² ω t/2] = 0.61 
[(r m – re)/re] δ θ’ m = 0.61 x 70.75 = 43
	Planet
	Distance r

X 106km
	Planet

Orbit T
	Orbit speed v in km/sec
	Less Earth speed
	Spin speed

km/sec
	Angular velocity; v/r 

arc sec/ century

	Mercury
	58.2
	88
	47.9
	18.1
	.002
	70.75

	Venus
	108.2
	224.7
	35.05
	5.7
	6.52
	10.86

	Earth
	149.6
	365.26
	29.8
	
	.46511
	4.1

	Mars
	227.936
	687
	24.14
	
	0.2411
	

	Jupiter
	778.412
	4333
	13.06
	
	12.6
	

	Saturn
	1,426.725
	10760
	9.65
	
	9.87
	

	Uranus
	2,870.97
	30690
	6.80
	
	2.59
	

	Neptune
	4,498
	60180
	5.43
	
	2.68
	

	Pluto
	5906.4
	90730
	4.74
	
	
	


Solving Newton’s equation in real time ends quantum relativistic mechanics

Solution: Location r = r r (1) ; Velocity v = r' r (1) + r θ' θ (1)
Acceleration γ = (r" - rθ'²) r (1) + (2r'θ' + r θ") θ (1)
S = m r; State = mass x distance 

P = d S/ d t = d (m r)/d t = m (d r/d t) + (d m/d t) r

Velocity = v = (d r/d t); mass rate change = m' = (d m/d t)  

P = m v + m' r; Momentum = change of state = change in location or change in mass 

F = d P/d t = d² S/d t² = d [m (d r/d t) + (d m/d t)]/d t

   = m d² r/d t² + (d m/d t) (d r/d t) + (d m/d t) (d r/d t) + (d² m/d t) ² r

F = m d² r/d t² + 2 (d m/d t) (d r/d t) + (d² m/d t) ² r
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Force = Change of momentum

F = m a + 2 m ' v + m" r

F = - GmM/r²   

Or, Newton's Kepler's equation:  F = - GmM/r²   

Then

With d² (m r)/dt² - (m r) θ'² = -GmM/r² Newton's Gravitational Equation (1)

And d (m²r²θ')/d t = 0               Kepler's force law               (2)

With m = constant, then m can be taken out from both equations (1) and (2)

With d² r/d t² - r θ'² = - GM/r²     Newton's Gravitational Equation (1)

And d (r²θ')/d t = 0                     Kepler's force law            (2)

From 2: With m = constant; then d (m²r²θ')/d t = 0 

And m² d (r²θ')/d t = 0

And d (r²θ')/d t = 0

And r²θ' = h 

With (1): d² (m r)/dt² - (m r) θ'² = -GmM/r²

With m = constant

Then m [d² r/ d t² - r θ'²] = - Gm M/ r²     

And [d² r/ d t² - r θ'²] = - G M/ r²     

Let r =1/u

Then d r/d t = -u'/u² = - (1/u²) (θ') d u/d θ = (- θ'/u²) d u/d θ = - h d u/d θ

And d² r /d t² = - h θ'd²u/dθ² = - h u² [d²u/dθ²]

And - h u² [d²u/dθ²] - (1/u) (hu²)² = - G Mu²

Or, [d²u/ dθ²] + u = G M/ h ²

u = G M/ h² + A cosine θ 

And r = 1/u = 1/ [G M / h² + A cosine θ]

              = (h²/ G M)/ [1 + (Ah²/ GM) cosine θ]

              = (h²/GM)/ (1 + ε cosine θ)

Then r (θ, 0) = a (1-ε²)/ (1+ ε cosine θ)

This is Newton's Classical Equation solution of two body problem. We solved this equation and we got the motion equation:
Is: r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)] which is the equation of an ellipse with eccentricity ε and semi - major axis a, and a semi- minor axis whose value is b = a √ [1 - ε²] and two foci one equals to c = ε a, and the other foci location equals to - c = - ε a. Or the motion of one ball around the other ball should be an ellipse with the other ball at one of the foci +/- ε a, of the ellipse with semi major axes (- a, a) on x-axis and semi minor axes (-b, b) on y- axis and foci (- c, c) on x- axis again with angle of rotation θ. If this law to work on two planets instead of two balls like planetary motion around the sun, then Astronomers should see this motion of a planet moving around the sun in an ellipse with the sun at one of its foci. 
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What astronomers saw was not an ellipse but a rotating ellipse like the ellipse below wth rotating angle ψ


[image: image5]
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When the areas size A are sliced equally it was found that the times spent by planets orbiting around the Sun and making areas A each are equal also.

 Or, r² (0) θ' (0) = r² (1) θ' (1) = r² (2) θ' (2) = r² (3) θ' (3) = --
                                           = location² x [angular speed] = constant 

                                            = Areal velocity

If r² θ' = h

Then differentiating with respect to time

Then d (r² θ')/ d t = d h/ d t
 And 2 r r’ θ’ + r² θ’’ = 0

Or 2 (r’ /r) = - (θ’’/θ’) = λ + í ω
The r = r0 e (λ + í ω) t
And θ’ = θ’0 e – 2 (λ + í ω) t
With r = r0 e í ω t; λ = 0
In real time r = (θ, 0) = a (1-ε²)/ (1+ ε cosine θ) e í ω t
With r² (0) θ' (0) = r² (1) θ' (1)

Then θ' (1) = [r² (0)/ r² (1)] θ' (0) 
And θ' (1) = {[e í 2 ω t] θ' (0) 
And θ’ (1) = {[cosine 2 ω t + í sine 2 ω t] – 1} θ' (0) 
Δ θ’ (1) = Δ θ’ (x) + í Δ θ’ (y) 

      = [cosine 2 ω t + í sine 2 ω t] θ' (0) 

Δ θ’ (x) = [cosine 2 ω t] θ' (0) 

Δ θ’ (x) = [1 – 2 sine² ω t] θ' (0) 

Δ θ’ (x) - θ' (0) = - 2 θ' (0) sine² ω t
Δ W = Δ θ’ (x) - θ' (0) = - 2 θ' (0) sine² ω t
                                 = -2(2π) [√ (1-ε²)]/T (1-ε) ²] sine² ω t 

And θ' (0) = h/r² (0) = 2 π a b/T a² = 2π√ (1-ε²)]/T (1-ε) ²  
Δ W = - 4 π) [√ (1-ε²)]/T (1-ε) ²] sine² ω t
If this apsidal motion is to be found as visual effects, then            

With, v ° = spin velocity; v* = orbital velocity
And v/c = (v* + v°)/c = tan ω t
Δ W = -4 π [√ (1-ε²)]/T (1-ε) ²] sine² {Inverse tan [(v* + v°)/c]} radians 
Multiplication by 180/π to change to degrees 

Δ W ° = (-720/T) {[√ (1-ε²)]/ (1-ε) ²} sine² {Inverse tan [(v* + v°)/c]} Degrees 
And multiplication by 1 century = 36526 days and using T in days  

W° (ob) = (-720x36526/Tdays) {[√ (1-ε²)]/ (1-ε) ²} x

                sine² {Inverse tan [(v* + v°)/c]} degrees/100 years
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Astronomy re - written
	Primary →

Secondary ↓
	v°(p) ↑ v* (p)↑
	v° (p) ↑v* (p)↓
	v° (p) ↓ v* (p) ↑
	v° (p) ↓V* (p) ↓

	v°(s) ↑ v* (s)↑
	Spin=[↑,↑][↑,↑]=orbit
	[↑,↑][↓,↑]
	[↓,↑][↑,↑]
	[↓,↑][↓,↑]

	Spin results
	v°(p) + v°(s)
	v°(p) +  v°(s)
	- v°(p) +  v°(s)
	-v°(p) + v°(s)

	Orbit results
	v*(p) + v*(s)
	-v*(p) +  v*(s)
	 v* (p) +  v*(s)
	-v* (p) + v* (s)

	Examples
	AS CAM
	
	
	

	v° (s) ↑v* (s)↓
	[↑,↑][↑,↓]
	[↑,↑][↓,↓]
	[↓,↑][↑,↓]
	[↓,↑][↓,↓]

	Spin results
	v°(p) + v°(s)  
	v°(p) + v°(s)
	-v°(p) +  v°(s)
	-v°(p) +  v°(s)

	Orbit results
	v*(p) - v*(s)  
	-v*(p) - v*(s)
	v*(p) -  v*(s)
	-v* (p) -  v* (s)

	Examples
	
	
	
	

	v° (p) ↓ v*(s) ↑
	[↑,↓][↑,↑]
	[↑,↓][↓,↑]
	[↓,↓][↑,↑]
	[↓,↓][↓,↑]

	Spin results
	v°(p) - v°(s)  
	v°(p) - v°(s)
	-v°(p) -  v°(s)
	-v°(p) -  v°(s)

	Orbit results
	v*(p) + v*(s)  
	-v*(p) + v*(s)
	v*(p) +  v*(s)
	-v* (p) +  v* (s)

	Examples
	
	
	
	AS CAM

	v° (s) ↓V*(s) ↓
	[↑,↓][↑,↓]
	[↑,↓][↓,↓]
	[↓,↓][↑,↓]
	[↓,↓][↓,↓]

	Spin results
	v°(p) -  v°(s)
	v°(p) -  v°(s)
	-v°(p) -  v°(s)
	-v°(p) -  v°(s)

	Orbit results
	v*(p) - v*(s)  
	-v*(p) - v*(s)
	v*(p) -  v*(s)
	-v* (p) -  v* (s)

	Examples
	
	
	
	AS CAM


W° (calculated) = (-720x36526/T) {[√ (1- ε²)]/ (1- ε) ²]} [(v° + v*)/c] ² degrees/100 years
1- Planet Mercury axial "apparent" rotation rate 
Δ W’’ = (-720x36526x3600/T) {[√ (1-ε²]/ (1-ε) ²} (v* + v°/c) ² seconds of arc per century

The circumference of an ellipse: 2πa (1 - ε²/4 + 3/16(ε²)²- --.) 
                                              ≈ 2πa (1-ε²/4); R =a (1-ε²/4)

Where v* (p) =√ [G M² / (m + M) a (1-ε²/4)] ≈ √ [GM/a (1-ε²/4)]; m<<M; Solar system data: G =6.673x10-11; M=2x1030kg; m=.32x10^24kg; ε = 0.206; T=88days; c = 299792.458 km/sec; a = 58.2km/sec; v° = 0.002km/sec

Calculations yield: v* =48.14km/sec; [√ (1- ε²)] (1-ε) ² = 1.552 

Δ W = (-720x36526x3600/88) x (1.552) (48.14/299792)²
        =43.0”/century

Δ W’’ = (-720x36526x3600/T) {[√ (1-ε²]/ (1-ε) ²} (v* + v°/c) ² seconds of arc per century
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The problem Einstein can never solve

2- As Cameloppardalis: Binary stars System  

AS Cam Data T=3.431; r (m) =0.1499; m=3.3 M (0); M=2.5 M (0)
R (m) =2.57 R (0); [v° (m), v° (M)] = [40, 30]; ε = 0.1695; 1- ε = 00.8305
R (M) = 2.5 R (0); r (M) =0.1111; m + M=5.8 M (0); G=6.673x10-11
M (0) = 2 x 1030 kg; R (0) = 0.696x109m; 
The circumference of an ellipse: 2πa (1 - ε²/4 + 3/16(ε²)²- --.) 
≈ 2πa (1-ε²/4); R =a (1-ε²/4)

Finding orbital velocities

From Newton's inverse square law of an ellipse motion applied to a circular orbit gives the following:  m v²/ r (cm) = GmM/r²

Planet --- r (cm) ----- Center of mass ------- r (CM) ---- Mother Sun 

Planet ------------------- r -------------------------- Mother Sun

Center of mass law m r (cm) = M r (CM); m = planet mass; M = sun mass

And r (cm) = distance of planet to the center of mass

And r (CM) = distance of sun to center of mass

And r (cm) + r (CM) = r = distance between sun and planet 

Solving to get: r (cm) = [M/ (m + M)] r 

And r (CM) = [m/ (m + M)] r 

Then v² = [GM r (cm)/ r²] = GM²/ (m + M) r  

And v = √ [GM²/ (m + M) r = a (1-ε²/4)] 
Planet orbital velocity or primary velocity:

And v* (m) = v (m) = √ [GM²/ (m + M) a (1-ε²/4)] 
R =a (1-ε²/4)
Calculations: (1- ε²/4) = 0.9928 
 [√ (1-ε²)]/ (1-ε) ² = 1.43

With a = [R (m)/r (m)] = (2.57/0.1499) (0.696x109) = 11.9327x109
And v* (m) = √ [GM²/ (m + M) a (1- ε²/4)] = 110km/sec

= √ [6.673x10-11 (2.5)² (2 x 1030) / (5.8) 11.932x109 (0.9928)] 
= 110.178km/sec
And v* (M) = √ [GM²/ (m + M) a (1- ε²/4)] 

= √ [6.673x10-11 (3.3)² (2 x 1030) / (5.8) 11.932x109 (0.9928)] 
= 145.435 km/sec
Spin: v° = 40 + 30=70km/sec
And v* (e) = v* Earth = 29.8 km/sec
And vº (e) = 0.465 km/sec

Then v* + v °= v* (m) + v* (M) + v* (e) + vº (m) + v° (M) + vº (e) 
               = 110.178 + 145.435 + 70 + 29.8 – 0.465 = 355 m/sec

[√ (1-ε²)]/ (1-ε) ² = 1.43; T = 3.431days

Page 14
W°= (-720x36526/T) x {√ [(1-ε²)] (1-ε) ²} {[v* + v°]/c} ²
W°= (-720x36526/3.431) x (1.43) (355/ 300,000) ² = 15°/century 

Dr Guinan and DR Maloney 1989: W°= 15°/century 1989

Einstein and 500 years of modern physics: 44.3º/ century

Another way to solve this problem:

δ θ’ m = (v m/r m) (180/ π) [36526/Tm (days)] (3600) = 70.75 Mercury
For planet Mercury 70.75 (29.8 – 0.465)/47.9 = 43

For As Camelopardalis: δ θ’ m = (v m/r m) (180/ π) [36526/Tm (days)] (3600)
= 12.928

[(145 + 30)/ (110 + 30)] (12.928) = 15 

Conclusion is: 

All rights reserved

The motion of a particle in space is given by a time independent particle motion of r = r 0 e í θ; Ground state
How you see this particle is a time dependent wave motion

Of: r = r 0 e í (θ + ω t); excited state! 
The difference between a particle time dependent motion and time independent motion is relativistic Illusions 

When applied to planets and stars motion it is a flawless victory! 
Kepler’s law in real time 600 years before Kepler  

Acceleration is distance /t² and if we fix time t = T and distance r = a

Then acceleration = a/T²; If we take T = t and r = a then acceleration = constant and acceleration = k/r² 0r acceleration = k/a²

That is we can make a time dependent acceleration r/t² a time independent acceleration a /T² and establish a constant time that is replaceable by a constant space dimension k/a² and: a/T² = k/a²

Or Kepler’s law:  

Of: a³/T² = k = constant and If we use Arabs real time idea of (r – r0)/r0
Or, a1³/ T1² = a2³/ T2² 

 Or, a1/ a2 = (T1/ T2)2/3

And (a1 - a2)/ a2 = (T1/ T2)2/3 – 1

Or (am – a e)/ a e = (Tm/ Te) 2/3 – 1; space – time equivalence
Ψ = [(Tm/ Te) 2/3 – 1] (47.9 /58.2 x 106) [(180/π) (3600) (26526/88)] 

Ψ = [(88/ 365.26) 2/3 – 1] (47.9 /58.2 x 106) [(180/π) (3600) (26526/88)] 

= 43 arc sec /century
Page 15                          all rights reserved
M





m





θ





M





ψ





m





θ








